2015 TJ?’UJ—

>L1s7H—7F No4 In Maishima IEX#HE 2015.11.01

86 & BRZY5

Rank No. FC % Z Best 1st 2nd
T 417 &HE BRZ 2] 01:35.236 01:43.584 01:35.236
2| 2|"E BB SRS A=Y 2| 01:43.138 01:48.720|pt1 01:43.138
3| 6=k _mIE FhATDANFAD 1 01:50.974 01:50.974 01:54.477
4 3[Em Z3t Z/\JLBRZ 2| 01:54.764 02:07.024 01:54.764

IMPZ5 X

Rank No. | K 5? Ed Best 1st 2nd
T 17as B2 DEKOTTO M3 1 01:37.395 01:37.395 01:41.942
AR ENINEES VW3 )LD 1| 01:37.442 01:37.442 01:38.500
3 10|k =B M135 LCI T 01:45.064 01:45.064 05:43.115|mc
4] oBH FEAN Alfa—MiTo 2] 01:56.628 05:46.323|md 01:56.628

C2735 A&

Rank No. | 4 2 Best 1st 2nd
1] 35[0 T & 1oT595 2] 01:35.371 01:42.203]pt1 01:35.371
2| 14|E 0 =8 |INT DESKIATF—/ 2| 01:38.053 01:39.682 01:38.053
3 18|=& e <5 RX-8 2| 01:38.653 01:45.051 01:38.653
4 170l ‘A OTGMSC VitzRS 1 01:40.076 01:40.076 01:47.348
5| 15|18 AC=& T4 17 CVIJAIF 2| 01:42.085 01:42.566 01:42.085
6] 16|AI0 RA FAIT ! G119 YIRS 2] 01:53.143 02:05.500 01:53.143
7| 13[FF _EIr < I3 RX-8 2| 01:56.963 02:00.232 01:56.963
8] 12|A&IL IFTH RUACET A1V YRS 2| 02:13.188 05:46.469|mdc 02:13.188

C177R&

Rank No. | Z Best 1st 2nd
1| 26[FE = RX—7 2] 01:35.186 01:36.241 01:35.186
2| 20[ZH E& BT REER 2] 01:37.492 01:43.654 01:37.492
3| 27| = WRX=STI 2] 01:37.752 01:39.723 01:37.752
4 24[FES X ERAR AT~ 2] 01:39.819 01:49.152 01:39.819
5| 21[HIL —=& FRn % J JL—LEVORG 2| 01:43.231 01:45.908 01:43.231
6] 22|HF = AU yHSTI 1| 01:45.004 01:45.004 01:45.136
1| 23| EH = Z/VJLWRX specC T 01:46.224 01:46.224 01:57.382
8] 25[lUdF A NASNHE 1| 01:46.473 01:46.473 01:46.508
o 19|XTH FE& 71T HECEA 2| 02:08.568 02:11.795 02:08.568

EX25A&

Rank No. | X E £ Best 1st 2nd
1| 31|EE B NRIDTIFVARZILEYS 2] 01:34.707 01:35.621]pt1 01:34.707[pt1
2| 28| &= JAX1FARRSAT T o T 01:36.705 01:36.705 01:41.500]pt1
3| 30|HB &l V17 ANRIAYT LYY 2| 01:37.294 01:46.067|pti 01:37.294
4 9[=KAHE{TT |ADVANFRHEBEDXLFZILF 1| 01:42.416 01:42.416 01:44.259

CL727 R

Rank No. | Z Z Best 1st 2nd
1] 33[/akE & HH a3 1 01:49.399 01:49.399 01:49.602
2| 34|TRIR FH [5O3 DBMW 2| 01:51.315 01:56.857|pt1 01:51.315
3[ 36|10 = RILTOT 1 2] 01:51.849 01:55.480 01:51.849
4] 32 EJ=XXAaART 2] 02:29.195 06:00.966|md 02:29.195




